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L. Simplify, write in standard form, an}d classify: (2x¢ + 16x® + 4) — (—=5x° + 2x* + 8)
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4. Write a staterfient that best describes the zeroes of the quartic function shown.
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Factor the following for #5-6. Show ALL work.

2 _ - 32 \ o
5. 2x3 :Bx 9x \ 1 6. 2x? -~ 32 d“‘ 5‘&

b 6@14»3)(%‘%) DG, 2 (¥ -"\Lo)l/

g&ff‘

CCO
Solve by factoring for #7-9. Show ALL work and give EXACT answers. A A 3
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11. Determine which binomial Ea factor
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10. Factor: x2 — y?




12, (a) What are the zeros of the polynomial. (b) Write the equation of the polynomial in standard form,
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13. Write the polynomial in standard form that has zeros of 0, 3 and 4.
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14. Write the polynomial in standard form that has zeros of —2 and 3 + 2i.
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Divide using synthetic or long division. _
x3-13x%+40x+18

15. (50x3 + 10x% — 35x — %X (i:rc ] d 18, 4 1 | 16. 7
Sy-4 JEOP i 3 7 3| 1B Y
(50 *i{m?)w | — L Fyg -

._--"““,-

0¥ 10 |~ 52\ -

| b

- Z

f X -bx- 2




Cavnet ko {u‘;)

17. Find the EXACT roots using dmsmn
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20. A rectangle has the dimensions of (x — 2) and(=x + 10)

a) Write an equation to model the area in factored form of the rectangle
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b) At what x-value does the maximum area occur?
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¢) What is the maximum area of the box? M(lx (S (‘0 o )
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